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Reminder – There is an Easter assembly at 11am. A link will be posted about this before on our Teams page!
Problem Solving
L.I. To use an appropriate strategy to solve a mathematical problem
S.C To use guess, check and improve to solve a problem
Rectangles
 [image: ]
[image: ]


Triangles
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Circles
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Skills Academy
LI – to create a box by logically linking dots together.
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Can you beat your opponent with this fun problem solving game? Create different levels of difficulty.
http://dotsandboxes.org/

Reward time ideas! :D
Listen to your favourite music
Draw or colour an Easter card!
Play a board game with someone at home (if they are not too busy!)
Play a game on a device 
Just dance videos! (Search ‘Just dance’ on YouTube)
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this puzzle. She had to choose the correct operations
to solve the problem. Can you solve the puzzle?
67533 75-29

@ Fred won two tickets to a football match by solving
this problem. He had to use thrae different operations
0 get the correct answer. Can you work out the
correct calculation?
20003 = w21 4-313

@ 1 can solve the problem, he il win a
free cinema ticket. He knows he must use:

‘each of the four operations once. Help him
1o find the correct calculation
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Mario was bird watching. He watked 48 miles and
found some pheasant feathers, and 23 miles

further on he found some heron feathers.

@ About how fr had he vlked before he
found the heron

@ e tookthe same route back to
whare ha stated, about how far did
he valk itogether?

athers?
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On his bird watching expedition, Mario found a

tree with several nests in i The first was about |
144 m from the ground, the second was about
13m higher than the first and the third was
about I:6m beyond the second. &
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@ About how bigh sbova the ground
was the tird nest?

@ About how much higher was.
the thid nest than the s nest?
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ﬁ Strategy: Guess, check and improve

o

5y and Travis are brothers.

oby is 3 years older than Travis.

The sum of their ages s 37.

@ Howold is Toby?

@ When Toby was born, his dad was twice as old as
15 s . How o s ther o ow? r

- @ How old wastheirdad when Travs was born?

Strateay: Guess, chock and improve

The Music Den sells 272 copies of a new GD on
the first day and 309 copies on the second day.

@ About how many copies are sold over the two days?

@ About how many more copies are sold on the.
socond day than the irst?

@ 1 the target for the week's sales of the CD is @%
1000 copies, about how many mre CDs need to b s
sold during the rest o the week?
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Dots & boxes
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George is one year older than his sister Julia
and a year younger than his brother Tom.

The sum of their ages is 54.
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@ Whatis the product of Julia and Tom's ages?

@ How old will they each be in three years' time?

@ There is another brother in the family, William.
The product of his age and George's age is 4 4.

Who is the oldest in the family?
ol sbin okt e 54757 o Ecsion 254




